Vacuum Pad With Lock Ring (29 ~ 650)
Adaptor

C-ZP SERIES |

Dimensions (mm)
Vacuum pad with lock ring [] Material: NBR(N), Silicone(S)
B AR cUELEILVE 10,13,16 20,25,32 -] 2-stage LY 40,50
13 218
@ lock ring d 215 @ lock ring
ol L_ ol o
—iR >" > [~ >.‘
o4 d
Pl o7
2C oC P
oA oA 2C
2B B oA
oD oD B
oD
Model |2A|oB|eC|eD| E P | Y |weight(g) Model oA |eB|sC|eD| E P | Y |Weight(g)
c-zp10B[[ 10|12 6 [14]11.7| 16 55| 2.8 c-zP20B[1|20]22[12|25] 19 [23.5 105 5.4 Model |eoA|eB|oC|[eD| E | P | Y |weightg)
C-ZP13B[][13 (15| 9 |19 (14.2|18.5|7.5| 4.4 C-ZP25B[1|25|27|16|28|19.5| 24 | 6.4 C-ZP40B[]| 40 |43 |24 |48(29.2|34|16|16.3
c-zp16B[]|16 |18 |10 |21(15.7| 20 |8.5| 4.7 C-ZP32B[1[32|34(19(37|24.5| 29 | 14 | 8.8 C-ZP50B[]| 50 | 53 |32 |57 [33.2|38|19|21.5
J EEECELEILTEE 09,14,16 oC Nl 4-stage 25,30
lock ring
@ lock ring 213 @ 3
=
a =
w L o
oD
oE
oA
2B
Model oA | eB | oC | oD oE F P Y |Weight(g)
c-zP09J [J 9 10 10 3 3 13.7 | 18 .7 2.8 Model oA 2B 2C oE F P Y Weight(g)
c-zP14J I 14 15 15 5.2 9.7 | 24 P8 535 c-zP25J [ 25 26 27 10.2 38 42.5 | 32.5 9.1
c-zP16J [ 16 [17.5| 18 4 7.2 : : c-zP30J 30 33 32 13.8 | 19.7 | 445 38 12.3
Adapter
Adapter with one-touch Adapter h one-touch —
fitting with male thread fitting with female thread A
Width across flats E
Width across flats 12
145 2 24 |
5 ~==mu | M8x1.25
s — —_—
< 1| Y, Sealing gasket(t=0.5) =
o | — Model A B oC D Weight (g)
|| M8x1.25 ZPRL-04-B5 23.3 4 24
ZPRL-06-B5 M5x0.8 24.3 6 5 24.7
Model A B oC E L Weight (g) ZPRL-08-B5 26.3 8 25.3
ZPRL-04-A6 23.3 4 31.1 ZPRL-04-B6 23.3 4 23
ZPRL-06-A6 | M6x1.0 24.3 6 8 54.5 31.9 ZPRL-06-B6 M6x1.0 24.3 6 6 24
ZPRL-08-A6 26.2 8 32.7 —ZPRL-08-B6 | 26.2 8 25
ZPRL-04-A8 23.3 4 33.7 ZPRL-04-B8 M8x1.25 23.3 4 21.8
X1.
ZPRL A8 M8x1.0 24.3 6 12 44.5 34.1 ZPRL-06-B8 24.3 6 8 22.6
ZPRL-08-A8 26.2 8 35 ZPRL-08-B8 26.2 8 23.4
4 Hexagon male connector 4 Hexagon female connector Female thread with Width
with one-touch fi with one-touch fitting one-touch fi acfoss
fasH @D
oC
® o 5 ®
Width across flats H
4@ o GL
Sealing gasket ] : Sealing gasket .0 oD Model A H L Weight(g)
28 | \R1/8 across flats H 4 | KJF04-M5-B [M5x08| 18.8 | 3.8
KJF04-M6-B |M6x1.0 19.3 3.2
oD Model oB | H | L Q |Wweight(g) | 8D Model oB| oC| H| L | Q |weight(g) KJF06-M5-B |M5x0.8 10 18 5.2
6 | KQ2H06-U01-B | 5 12 (19.5|14.5| 6.2 6 |KQ2S06-U01-B | 3.8 12| 4 | 24 | 19 8 6 | KJF06-M6-B [M6x1.0 20 6.6
8 | KQ2H08-U01-B | 5.8 | 14 | 25 | 20.5| 12.1 8 |KQ2S08-U01-B | 4.8 14| 5 |27.5|22.5| 11 KJF06-M8-B |M8x1.0 12 21 9.6




Vacuum Pad With Lock Ring

(29 ~250)
Adaptor

C-ZP SERIES

Dimensions (mm)
Adapter for vacuum pad with lock ring
Vertical vacuum port Vertical vacuum port
ZPT2 [t dpi g AS5,A6,A01 Fa¥] \ith female thread |Laiadl
" -~
@ A T @ Width across flats 12 Rc1/8
Width across flats C : " BO1 !
Width flats8 A |
A5,A6 A0t Width across flats 10 R1/8 B5,B6 idth across Tats : =
- ) ;U [ - ©
HE o
Width across flats 8 = 1 3
i
© [ o
® 2.5 '
22.
92.5
6.6 | 6.6
Adapter Model A B (o4 L Weight (g) Applicable Pad Adapter Model A B Weight (g) Applicable Pad
ZPT2-A5 M5x0.8 7 4 26 4.5 @@@ ZPT2-B5 M5x0.8 5 4 @@@
ZPT2-A6 M6x1.0 8 3 31 5.9 @@ ZPT2-B6 M6x1.0 6 3.7 @@
ZPT2-A01 . - - - 8.5 ZPT2-B01 - - 9
Vertical vacuum Vertical vacuum port
ZPT3 with m “"_eadp A6,A8,A01 ZPT3 h female thread B5,B6,B8,B01

A . Applicable with (h5) fitting

®

Width across flats C

B8,B01 Width across flats 12

ABAS m‘ A01 Width across flats 10 R1/8 _
4 Width across flats D o |
Qr,
o] E Jlo|™ o
] &
o o
3.5 o4
28 28 Ad 5 -
lapter Model A B Weight (g) Applicable Pad
Adapter Model A B C = Weight (g) | Applicable Pad ZPT3-B5 M5x0.8 5 4.6
ZPT3-A6 M6x1.0 5 | 8 31 6 @2 ZPT3-B6 M6x1.0 6 43 [F1YF2]F3)
ZPT3-A8 M8x1.0 10 12 12 26 138.7 @@ ZPT3-B8 M8x1.25 8 1.4 @@
ZPT3-A01 = = = 82 ZPT3-B01 Rc1/8 6.2 9.6
acuum ical vacuum port
l:hreadp ABASADT ZRT4 h female thread B
Applicable vith 13} iting Width across flats 12 A
Width across flats 12
Width across flats C A01 R1/8
: w0
©
= Width across flats 12 © ] -
<|o| e [ .
MR e ! S
1 = ) -
w0 -~ d d
o
- 245 |
o11.7
Adapter Model A oB c L Weight (g) | Applicable Pad EERES A B oC Big SRR
ZPT4-A6 M6x1.0 3.5 8 32 13.4 @@ ZPT4-B6 M6x1.0 6 4.5 17.4 @@
ZPT4-A8 M8x1.0 4.5 12 22 138.2 @@ ZPT4-B8 M8x1.25 8 6.8 14.9 @@
ZPT4-A01 c: Z B 13.1 ZPT4-B01 Rc1/8 6.2 ’ 10.7
Lateral vacuum port Lateral vacuum port
il with male thread AS.AS B &l with female thread BS5,B6
Width across flats E B
&} H
@ Vs~ ®
a : memur accessorie Width across flats 10 A ’Connector accessones
|| Width across
fiats 10
ol 1 o~ T
| <+ m‘
2 g|
] | T2-B5
925 '
4_]@ o2 26.6
Adapter Model A B |oC|D|E| L |Weight(g) Modelof connector | ppsjicapie Pad Adapter Model A B oC | D | Weight(g) | Modelof connector | zppjicapie pad
ZPR2-04-A5 M5x0.8 20.6| 4 417! 63 21.5 | ZPRS-04-A5 ZPR2-04-B5 M5x0.8 206 | 4 4 15.6 ZPRS-04-B4
ZPR2-06-A5 216 6 22.3 | ZPRs-06-A5 | @ @@ | zPR2-06-B5 T 216 6 16.3 | zPRs-06-B4 | @@ P
ZPR2-04-A6 20.6 | 4 22.7 | ZPRS-04-A6 ZPR2-04-B6 206 | 4 15.7 ZPRS-04-B5
M6x1.0 3(8| 68 ®@ M6x1.0 5 ®@
ZPR2-06-A6 21.6| 6 23.5 | ZPRS-06-A6 ZPR2-06-B6 216 | 6 16.4 ZPRS-06-B5




Vacuum Pad With Lock Ring
(29 ~ 250)
Adaptor

Dimensions

‘ C-ZP SERIES

(mm)

Adaptor for vacuum pad with lock ring

teral vacuum A6,A8

ort
ZPR3 h male threag

B

T - Width across flats E

Connector accessories @

Lateral vacuum port

ZPR3 h female thread

B5,B6,B8

Adaptor (i4)
Model A B oC D Weight (g) | Applicable Pad
ZPR3-04-B5 23.3 4 35.5
ZPR3-06-B5 M5x0.8 243 6 5 36.1
Model A B oC E L Weight (g) | Applicable Pad ZPR3-08-B5 26.3 8 36.7
ZPR3-04-A6 23.3 4 42.4 ZPR3-04-B6 23.3 4 34.4 @@@
ZPR3-06-A6 | M6x1.0 | 24.3 6 8 78.5 43.2 ZPR3-06-B6 M6x1.0 243 6 6 35.1 @@
ZPR3-08-A6 262 | 8 441 |@@P@P | zPr3-08-B6 26.2 8 36.1
ZPR3-04-A8 23.3 4 45 @@ ZPR3-04-B8 23.3 4 33.1
ZPR3-06-A8 | M8x1.0 | 24.3 6 12 68.5 45.5 ZPR3-06-B8 M8x1.25 243 6 8 33.9
ZPR3-08-A8 26.2 8 46.7 ZPR3-08-B8 26.2 8 34.5
Lateral vacuum port Lateral vacuum port
Bl with male threa AGAS aBiy With female thread [t
Soneder (] B
® 8 o e
= g ‘ Width across flats E Width across flats 12 A
A _
. ‘ Connector ¢
~ || Width across flats 12 Sccessofies iy
Hii o) o
) = = B w
s <
| il :
o~
') § Ff} Adaplcf
=|[ zpTa-B8
T
24 |
e11.7
Model A B oC E L Weight (g) | Applicable Pad Model A B oC D Weight (g) | Applicable Pad
ZPR4-06-A6 — 243 6 8 78.5 46.4 ZPR4-06-B6 — 243 6 s 39.6
X1 o X1,
ZPR4-08-A6 262 | 8 47.3 (G1]G2) ZPR4-08-B6 26.2 8 39.5 (G1]G2)
ZPR4-06-A8 243 6 48.8 ZPR4-06-B8 243 6 37.2
M8x1.0 12 68.5 ®@ M8x1.25 8 @@
ZPR4-08-A8 26.2 8 50 ZPR4-08-B8 26.2 8 37.8
teral vacuum port Canbe with Lateral vacuum port Can be with
Gk with male threag ASA8 =y 4L with female thread B5,B6
Q, Connector accessories (@3) M5 Q  Connector accessories @ M5
]
@ d 7O uanausNe @ 7O uaNausNe
- ..
T
A Q  Connector accessories 375 M5
I T Width across flats B Width across flats 12~ A ® < 03,23,04,06
1 ; &
3 E & =
4l S i g T Q | Connector acoessones@ M5
Width across |+ 1 2 <> 035,235,04S,068
©| flats 12 L © B
e h |
o
o Model : ZPY2->-AJ Model : zPY2-O-BY
Model A B L Weight (g) Applicable Pad Model A B Weight (g) Applicable Pad
ZPY2-B5-A5 |M5x0.8| 7 47 27.3 DD ZPY2-B5-B5 M5x0.8 5 21 [E1)E2)E?)
ZPY2-B5-A6 |M6x1.0| 8 3 52 28.4 DD ZPY2-B5-B6 M6x1.0 6 20.6 DD




Vacuum Pad With Lock Ring

Dimensions

(29 ~ 250)
Adaptor

C-ZP SERIES

(mm)

Adapter for vacuum pad with lock ring

ZPY3 Lateral vacuum port A6,A8 Can be with Can be with
with male thread -  ~
Q Connector accessories a@ M5 Q Connector accessories @9 M5
@ 17O uaNa,UsNe Ny & U4,N4,USN6
= -
) A Q  Connector accessories @ M5 Q  Connector acoesscriss M5
T = iiilF across Tials & <> 04,06 Width across flats 12~ A 2 04,06
4 - X
1 o 2
) S © L Q  Connector accessories @ M5
ol - RS enm
Width across : E e <> 048,068
o |flats 12 / | g T | =
N <0
o 1
- ' . 6 23.5 5
o ; Model : zPY3-O-Ag 28 Model : zZPY3-{>-B6
8
Adapter Model A B Weight (g) Applicable Pad
Adapter Model A B L Weight (g) | Applicable Pad ZPY3-B5-B5 M5x0.8 5 23.5 @ @ @
ZPY3-B5-A6 | M6x1.0 54 31.4 [F1YF2)F3) ZPY3-B5-B6 M6x1.0 6 23.8 Y
ZPY3-B5-A8 | M8x1.0 12 44 34.4 DD ZPY3-B5-B8 M8x1.25 8 21.7
Lateral vacuum port Can be combined with connector accessories Lateral vacuum port Canbe with
ZPY4 = ZP' %
Y with male thread AGAB M with female thread B6,B3
Q Connector accessories @3 M5 -Q Connector accessories(@3) M5
A VO ueNs A O usNe
© e e
= ==
) Q  Connector accessories M5 Q  Connector acoessories M5
© Width across flats B Width across flats 12~ A |
(=]
1) - & X
1 m| ©
- 3 & ea
Width across = o AL
g flats 12 A - -~ '
o B S :
o ] Model : zPY4--AS 26 Model : zPY4-O-B§
o | 85 |
LE .‘ 211.7
: lenz
211.7
Adapter Model A B L Weight (g) Applicable Pad Adapter Model A B Weight (g) Applicable Pad
ZPY4-B5-A6 | M6x1.0 54 35.9 [c1]G2) ZPY4-B5-B6 M6x1.0 6 28.1 [c1]G2)
ZPY4-B5-A8 | M8x1.0 12 44 38.9 D ZPY4-B5-B8 M8x1.25 8 26.1 D




Vacuum Pad With Lock Ring

Dimensions

(29 ~ 250)
Adaptor

‘ C-ZP SERIES

(mm)

Height compensator

Open pass height

ZPB2 compensator

10,20,3

Connector accessories(@6) M5

Can be with a3 Port height
g Connector accessories M5 compensator
o < 03,23,04,06

@

Width across flats

D

Can be combined with connector accessories

. Connector accessories (13)
<] < 06,08
- | i

Connector acnessnries@

] <> 035,235,048,068 Tt across: \ <] &> 065,085
flats 19 \ /
b J T — '
Model : zPB2-@H -
-
o 3 XE @10 @20,30,50
N6:94.5
| H M14x1 .
® M10x1 o — o
= R “Fea F 1\ seaiing gasket=0.5) o ;
= — 1]\, Sealing gasket(t=0.5) o4
02.5 || m8x1.25 )
M5x0.8 e
N4 Model : zPB2 -.--ﬂ:
Model : zPB2 -.l-ﬂg
ue @ weight (g)
Model A B c D L
J K
ZPB3-@10-B5 10 77 68 64.2
@ weight (g) ZPB3-@20-B5 20 50 81 68.8 67
B ¢ L M5x0.8 10
Model 3 K ZPB3-@30-B5 = 30 91 716 | 71.4
ZPB2-@10-B5 10 23 47 19.6 19.2 ZPB3-@50-B5 50 75 136 97.5 | 97.6
ZPB2-@20-B5 20 . 85 29 27.8 ZPB3-@10-B01 10 785 | 70.4 | 66.6
ZPB2-@30-B5 30 95 30.8 29.6 ZPB3-@20-B01 o T 50 1 84 69.8 67
ZPB2-@40-B5 40 . 131 41.4 41.6 ZPB3-@30-B01 30 94 72.6 71
ZPB1-@50-B5 50 141 42 43 ZPB3-@50-B01 50 75 139 97.2 95

@ Height compensator type:Rotative(J),Unable to rotate(K)

M Buffer stroke(mm):10,20,30,40,50

ZPB2 Closed pass height

compensator 10,20,

0,50
Width across flats 6

@ ] ;

Width across
flats 14 q

compensat

C)

ri):¥ Closed pass h

@ Height compensator type:Rotative(J),Unable to rotate(K)

M Buffer stroke(mm):10,20,30,50

Width across flats 10

Width across ||
flats 19 i

0 \ i T
A 2 w0
Slel FEEIB =
© i o
i w
o T[] M10x1
M14x1
e -\ sealing g 0.5) o
M5x0.8 “Fe |\ Sealing gasket(t=0.5)
M8x1.25
@ weight ()
B o] L
Model 3 K e . r ) @ weight (g)
ZPB2-@10 10 23 45 19.7 20 oae J K
ZPB2-@20 20 54 83 33.8 30 ZPB3-@10 10 80 80.2 74.4
ZPB2-@30 30 93 32.3 31.7 ZPB3-@20 20 50 77 69.9 71.2
ZPB2-@40 40 77 129 44.3 44.3 ZPB3-@30 30 87 77.8 77
ZPB2-@50 50 139 45.6 41.6 ZPB3-@50 50 75 132 103.8 105.8

[ ] Height compensator type:Rotative(J),Unable to rotate(K)

Il Buffer stroke(mm):10,20,30,40,50

@ Height compensator type:Rotative(J),Unable to rotate(K)

M Buffer stroke(mm):10,20,30,50




How to order

@ Material @ Diameter (E-] (F] G
N | NBR @ Siction 0910|1314 (16 |20|25|30|32|40]|50
$ | Silicone Type ¢ 29 |210|213|214|216|820| 225|230 |232| 240|250

u Flat -l e e - 0|0 -0 0 0
C | With Rib -le|jo|-|0o0o|0|- |0 0|0®
D | Deep -l e -|l®|-|®|-|-|@®]|-
® Directlon of B 2 Bellows -|le|l®| - oo @ -0 @@
vacuum port J | 3/4 Bellows o|-|-0o/@® -0 @ -|- -
m | A5 |M5x0.8 ° - -
Q|3 |A6|MEX1.0 ° ] ]
9|5 |A8|MBx10 - ° ®
< s | 8
T ) 3 |8 |a01 RIB (] ° ®
4 2 [z [B5[M5x08 ° ° -
o g
- = 3 |B6|M6x1.0 [ ° ®
= |2 |B8|MBx125 - [ ®
o
o | & [Bo1| Rci/s ° ° ®
f =4
3 §£ED 04 24 o [ =
S 3% 06| o6 ® e °
E
8 |o8| o8 - ° °
csm| A5 | M5 x 0.8 °® - -
= 3%
R S |83 A6 M6x 10 ) ° °
2| =|A8|M8x10 - ® ®
-
= B5 |M5x 0.8 ° ° -
3 §§ B6 |M6x 1.0 ® ® ®
2 [°8|B8|M8x125 - ) [
B5|M5x 0.8 ® ° °
Q ] U4 | 4 PU hose ® o =
9 S | N4 | ®4 Nylon hose [ ] [ =
S | =
r 3 £ | U6 | ©6 PU hose ® [ J e
V) o | @
T £ N6 | ©6 Nylon hose ® [ ] [
8 o[E8[ 03| @3 ° - -
- ga
as| 23| @32 ° - -
e
2 za| 04 o4 ® [ ] -
c oo
3 (83| 06| o6 ° ° °
S [25lo3s| 3 ° - -
s oo
== - -
Y S 85235 3.2 °
52/04s| o4 ) ]
[=}
@| |8°|o6s| o6 ° ° °
=g A5 |M5x 0.8 ° - -
S 85| A6 |M6x 1.0 ® ° ®
3 | ~|A8|M8x 10 - ° °
@ |.-|B5|M5x08 ® [ .
= [28B6|MBX 1.0 ® ° °
g |8
2| ~|B8|M8x125 - ° °




CHANGE THE SUCTION UP

REBETHREM  EUEFATERN., SHHEEBRTEER
EAEE. REMEESFRG. NHITERRS. NREEE
MRE. o, ARUERFER , MEIERR, ERBER
EIRIRIR S AOSNRE.

i

=D

Old Suction Cup New Suction Cup

STEP: 1. Take off the ring.

2. Take off the adapter.

3. Fix the new suction cup with
ring and then insert the adapter
with the new suction cup.

Adapter
-

04 &y
purs

2] 4
P
()

Ring

Suction Cup




